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Question Number : 1 Question Id : 3922668201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Chinese Traveller Huen Tsang visited India during the reign of

this king

1. Harshavardhana
2. Ashoka

3. Kanishka

4 Satavahana

BEs HIFT FMeusHe0 Feor WMSHMST eureuieor
SR @HAWIMEHle0 HHMILLILIETITD GFWISITIT

1. QUDITEL6UITSS 60TIT

2. AHCFTSHT

3, &60T165IT

4.  SMSHEUMNSHEDIT

Options :
1.v 1
2. % 2
3.% 3
4. % 4
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Identify the mismatched pair.

1.

2
3.
4

Viswanadha Satyanarayana —Srimadh Ramayana
Kalpavrukshamu

Nanduri Subba Rao — Yenki songs

Srirangam Srinivasa Rao — Firadausi — A Rebel

Gurram Jashua - Kandiseekudu

OLMHHBINS BeNeTITenil &HevorLi).

1,

Options :
1. %1
2.% 2
3.¥3
4. % 4

eN6NVEUBNG FSWIHTIMILEWTT-WUIHLDG TLDITUIETOTTT

&60LI6HH&H 60D
meooT@Bifl &LUUmgmey - WUk SFTRIEN
uhbmaislD Fevfleunanmey-Lre\sendl-em
Serigdwiment

SO wraweur - ShEHESO
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Andhra Kesari titled leader to oppose lathi charge related to
Stmon Commission in Madras was

L.
2.

(ad

4

Tenneti Viswanatham
Tanguturi Prakasam Panthulu
Rajagopalachari

Lala Lajpati Roy

SITEED WFDET SHLI6EHT C\FMLITUNS HBLES SQUIQEm
adsg Gumumowl R(HBT GCssfl er6rr SewPSSLILIBLD

SHEMELEUIT
3 6\560TGeTTY  65l6T0EUBMSLD
2. LmG@f drsmeb ubsie
3. BomeEEsmumeon&Faml
4. 606V 6LERLISTMUI

Options :

1. %1

2.2

3.%3

4. % 4
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Chatrapati Shivaji fought with this king’s army

I Alkbar

2, Humayun
% Mohammad Bin Tughlaq
4, Aurangazeb

855 il LenLEHemeT 6HeE FSIUS Fleumes
GUIMITTTLREBTITIT

3 DS

2. eufDmu}eo
3. (psg e H&ensH
4.,  QEMITRIGEL

Options :
1. %1
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The Supreme Commander of the Armed forces of India is

L.
2.

(8]

4

The Prime Minister
The President
The Vice President

The Defense Minister

B SHWFLLEDLSeR6T &UfD SHLDMEToTLIT

L
2
3.
4.

Options :

1% 1
2.¢2
3. %3
4.% 4
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1. Suman Bery
2. Sindhusree Khullar
3. Amitabh Kant
4 LG. Patel
1. gpeor @uirfl
2. Sbgiuh @eveor
3.  QblFTL SMkES
4. LG. u@Lsb

Options :

1.v 1

2. % 2

3. % 3

4. % 4
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Identify the mismatched pair related to states and their folk

dances

1. Maharashtra - Tamasha

2, Andhra Pradesh - Dhimsa

3. Odisha - Chou

4. Gujarat — Chadya Dandanatha

LDMTB6VMRIHET, SHeumnjledr HIL(BLULUD HLEDITRISET
E\SMLITUMEDT SNBSS Remeuiremil SHevorLl.

L LD&MOMERIONT —- SLDTEQMT
2. SppSruiigGssp - et
3. QUFT - 6)F6T
4. SROMS - SFMLWT SHE0ILHTSHT
Options :
1. % 1
2. % 2
3.% 3
4. 4
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“Give me blood, and I shall give you freedom™, these words

are said by

L Jawaharlal Nehru

2. Sardar Patel

3 Subhash Chandra Bose
4 Bhagat Singh

ullﬁn'il

S6T  616015G QBIS55HMF OSTBRIGET. [HI6oT

2 MSEHSS FSHIIHMS HHBCMET’ eT6evrdHIa et

1.

oW

Options :

1. %1

2. %2
3.¥3

4, % 4

@euamieonsd Gm(h
ghngmm uGLeD
&umelp FhHTGUTEN

LI&S&IMhI
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The purpose of ‘Pradhan Mantri - Jan-DhanYojana’ is to

1. Provide housing facility to all families

2. Bring all the families of both urban and rural area into
the purview of banking

3. Provide gas connections to all the poor

4. Provide financial assistance to the farmers

‘Nosneo LHBSM eRetTseT-Gumeentm S LS He0r

GBT&&LD

1. BALReD 2 6Tem Hewenisg SBLOLMISEHSESLD

4.

Options :
1. %1
2.9 2
3.% 3
4. % 4

el (Beusd Dleflsze0

&omo, meImidl ugHsaflo 2 eTer eueleun(H
SBLUSMSWD 6kl GFmeus@GeT 6&meuor(®
6U(HFH6L

genlD GOLUMBISERHSHE FEWLDUIED 6Tileuriy
BemeuurLiL] &M(BSHSH60

sfleugmisensad BE 2 g6l SHaflgseo
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Identify the mismatched pair.

E
2.

i
Y

4

12™ January — National Youth Day
24™ January - National Girl Child Day

8™ March - TUN Day for Women’s Rights and
International Peace

28™ February — National Physics Day

OLMHBESTS BeNETITenl &H6voTLm.

1

Z,

4,

Options :
1. % 1
2.% 2
3.% 3
4.9 4

euteurfl 12 - Cxlw BewaTEHT HI6I
gevteufl 24 - GaW OW6EWT GLHEWSHSHET H6UTLD

LDMT& 8 - eWenrdeT 2 flewd HMID FTeuGHS
AHMDEEENS LHEW HIBH6ET Feou HIeT
ugeurfl 28 - Gadlw @WbLwed HreT
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The language which is called as “The Italian of the East’ i1s
1. Hindi
2. Sanskrit

3 Tamul
4. Telugu
‘BRS5HTEOIIET DLl & A6 61607 HEWLPSSLILIBLD
QWDITLYI
L 853
2 FLDENB(HSLD
3. Sl
4 EAD AR
Options :
1L® 1
2. % 2
3.% 3
4.9 4
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The author of the book ‘Unstable Earth’ 1s

“Unstable Earth’ etemild LSs&55601 S rfluirt

1. J.A. Steers
2. Gillbirt
3. Pascal
4 Delis
1. J.A_ eroLermen
> &eoLImL
3. LIM6N&60
4, 6IL60l6N
Options :
1.v 1
2. % )
3.% 3
4. % 4
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The film *The Tashkent Files™ is based on the mysterious
death of

1. Lal Bahadur Shastri

2. Shyama Prasad Mukherjee

Homi J. Bhabha

4. Subhash Chandra Bose

‘B SM6HEIL  eMLIG 6T6DID SewguuLLD  Zeurfleor
LDITLDLDITE0T @MUIL|L6IT 6)SHTLITLeWLUIS]

LS ]

1. 606D LIGGHMIT &Frervedrl
eQWIMD NTFNG (P&
Gammsl J. umum

oW

&UMeQ &Fhdr Gumsiv

Options :
1.v 1
2. % 2
3.%3
4. % 4
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This 1s used for artificial rains
1. Magnalia
2 Silver Todide

Calctum Phosphate

(sd

4. Hydrogen Peroxide

O FWMDHens enD UMPelss Beng LwieTUBSSHI6uT
L LDT&H6E0TTE0IUIT

2. dleveum SHBWMemLL.

3. &Moo LmerGLIL

4. emaMLIER6N 6WUITHNED

Options :
1. %1
2.2
3.% 3
4. % 4
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The name of the Indonesian National Airlines 1s

1. Tiger Indonesia
2 Garuda Indonesia

Elephant Indonesia

(2

4 Cheetah Indonesia

SsCanGenadiunsilest Gz  efimen GUTHGSEUTSSHE0T

eI
1. ewLST BbECHTEeTauIT

2. &mLT @hCsnGeragwim
3.  eedluevor. @pGxnGeuradim
4. &unm @iGsnGeuraguim

Options :
1. %1
2.9 2
3. % 3
4. % 4
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Identify the mismatched pair.

1. Dollar - Barbados

2 Rouble - Belarus
3. Won - Japan
4, Dinar - Algeria

OLMHBINS BeNETITEn &6vorLi)l.
1 Lm6om - ummuGLTeny

. epLIleT - EILI6OMT6N

3, 6UMEDT - ERLILITEDT

4. Beorm - SHeogdrflwim

Options :
1. %1
2.% 2
3.¥3
4. % 4
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After March 2024, the eligibility age for senior citizen to vote
through postal ballot 1s

1.
2.
3.

4

70 years
75 years
80 years
85 years

LDMTEF 2024 &@ LN60T SLIT6L 6UTEHE ELPEVLD EUTEGSTIeTLDEmIL

LL6TLBESFEHTETERD (PSS GADSHEHHS SHHS
GeuetTmowl euLE| SSS

L
2,
3.
4,

70 6U(RHLIBISEIT

75 GU(HLIBISET

80 6U(HLMEISHET

85 6)(HLIRISET

Options :

1. % 1
2. %2
3. %3
4.¥ 4
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Dadasaheb Phalke Lifetime Achievement Award for 2022 is
awarded to

1. Mithun Chakravarthy

2. Aiswarya Roy
3, Chiranjeevi
4. Hemamalini

2022 QD SHEIBHHTE SISTHTE LIM60ES  6UMLDBTET
SATHEETLITEMT 6M(HE BOUFHEHG GUDRIGLLILL 5|

& O&I60T FHSHTEUTSHS

2 ES6TVEUMLIT Tl

3.  dAgepdel
4.  Gamuwomedlesf

Options :
1.v 1
2.% 2
3.% 3
4. % 4
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The Central Government has announced this pension scheme
for employees from April 1. 2025

FHWU DTS gumed 1, 2025 6OlFHE, BT&
M ALIMTSHEHSSHTE HN6NGS PuiepSul SULLD
E National Pension Scheme

2, Old Pension Scheme

3. New Pension Scheme

4. Unified Pension Scheme

Options :
1. % 1
2. %2
3.% 3
4. 4
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Correct Marks : 0.5 Wrong Marks : 0

T

33™ Summer Olympics 2024 was held in
1. Los Angeles (America)

2. London (Great Britain)

3. Paris (France)

4. Shanghai (China)

336ug| @GamemL 6eOIDLNG GUITLIQ&EET 2024
HEOLEWMDD LD

1. 66N 6T ERFEVEN (BIEIDMSHSIT)

2. BevevorLeor (HGrL LrflLeor)
3. umrflery (LNrmesTeny)
4. EWMMRISMU ( SeurT)

Options :
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“English language would contribute to the revival of India,
just as Greek and Latin contributed to the revival of England”,

said by
1. Elphinstone
2 Macaulay

Sadler Commuission

fad

4 Sargent Committee

"@rﬂ@mnﬁ@s&r DM 2 (HaNssE5HING SCIssLD,

Beosdett  GWmPserfleot

usefluemy  GumedTmy

@I wnelledt DM L (HOUTESESSINGS SphiEed WM

URISeT&@D”, 61601 Faniwug)

1 6T60LI60T6TVL 60T

2 6\LD&SME60

3 FML6OIT SHLOI6Q60T
4 SIMTERE0TL.  G(LD

Options :
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

“The authorities audit report record’ belongs to this section in

the
1.
2
3.

4.

school registers
Correspondence Register
General Register
Academic Register

Supervision and inspection Register

‘SiPanriseflent FewldHems HEVELH Sl HNHEWS
udGeau® ereorug uestafl LBCuUBSeTL RGHIEDMEMIL
FMBS I

|

&5 OGMLMY Hlewmn uUDSCeu®

2. eumg LSGeu®
3 s&eoellgmT FweoLnBaeT uHGeu(®
4.  Gupumiemel LOHMID Sewlsens UDCuDB
Options :
1. %1
2. %2
3.% 3
4.9 4
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This Article of the Indian constitution deals with the
‘education development of women’

‘OWETITSHET H6ev6fl (LpeiTGeuhmd’ UMl \5ifleflEELID
SirdlwevsmipLi] &L Lnifley

L 15. 16
2. 28,29
3. 19
4, 21
Options :
1.¥ 1
2.% 2
3.%3
4. % 4
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NCLP school are managed by

1. NGOs

2. Government Teachers
3. Corporate Companies
4, Various Industries

NCLP ueTerfi&emer [BiieudULeuTS6i
1. NGO &ae6iT

2 Sirg SpSflwnger
3. SMTUGTL. SLD6\LIeufl&H6IT
4 eeuauGaum O\FTLODHSFTENEOSHET
Options :
1L.¥ 1
2. %2
3.%3

4, % 4
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Correct Marks : 0.5 Wrong Marks : 0

According to NEP 2020. Anganwadi workers / teachers who
has lower education qualification than 10+2 will be given the
training for this time pertod

1.
2.
3.

4.

6 months diploma course
8 months diploma course
1 year diploma course

2 years diploma course

NEP 2020 601 uiQ, 10+2@& 6fl @Gemmeurnesr &evell

SSIHLOLI  DHRISH6oTeUMY  2emPlwit / SHAMWINTSHEHHES
SleflasuuB LuWibhd smeo Sierey

1.
7.8

3.
4.

Options :
1. % 1
2. % 2
3.¢¥3
4. % 4

6 LDM& LLLUl LIQUIL|
8 LDM% LLLW LIQUIL|
1 Sp600r(B LLLUl LIQUIL
2 Se0or(® UL LIQLIL
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The word ‘Ethos” 1s derived from

1 Latin
2 French
3. English
4. Greek
‘Ethos’ eTepld 6)\&T60, @B GWMHUedHHSE
aU(HENGSLLILL &)
1.  @eosden
2. N6 TEhs
3.  Spmdeod
4, $HCI&H5LD

Options :

1. % 1

2. %2

3. % 3

4.9 4
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This 1s the best method to teach moral values. as per the
recommendations of the Secondary Education Commission
(1952-53) and “National Curriculum Framework 2000°

L.
2.
3.

4

£59

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities

B0 WLIULSmET SDUSSH, SRewLBened  SHeveil

S (1952-53) MHMID ‘CHFW HMEVSSLL  6UIQEUEHLDLIL]
- 2000" ufibglenT 6\FWS DES wLewD

L.

oW

Options :

1.v¥1
2. %2
3.% 3
4. % 4

RRHMRIBENETHES  (LDEDD

Uy umLwns WSUL SHeoeflenil HDHLIGSH0
Gl LImGsHDL

eueu@euml Fepd G\FWeOLIM(BSHeTed LIS
61LIM)| &6V
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“Listening Carefully to the opinions of others™ is this type of

value

1. Democratic value
2 Social value

3 Permanent value
4. Spiritual value

“UDHEOLW SHSHIHEMET HEUSTIDNS GHLLED” 6T60TLIS]
8bs LS| HGD
1. ERE0TTHITILIS LDELIL

2.  Seps LB
3. [Beweowreur ALY

4.  Spetnbs WS

Options :
1.v 1
2.% 2
3.% 3
4. % 4
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Under this section of the Right to Information Act 2005. every
citizen of India can request for information of his / her choice

1. Section 4 (1)
2. Section 6 (1)
3. Section 9 (1)
4, Section 2 (J)
556u60 2 flembg &FLULLD - 2005 60, @uUiifleflesr Lig,

SrHWele0 2 6TeT REUUT[H SWDSENID FHEMSHS
GHEWEULITETT FH&HEULSHEMET 61N  65l6T0TEv0TLILIS&HE0ITLD.

1. ey 4 (1)
2. Orfley 6(1)
3. Arfley 9(1)
4. Orfley 27
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Wrongly matched chapters and its components of NCF — 2005

1S

L
2

(sl

4.

Chapter 2 — Learning. knowledge
Chapter 3 — Perspective
Chapter 4 — School and Classroom Environment

Chapter 5 — Systemic Reforms

NCF — 2005 60 SIS WMUMISET LDOMID SHeuDjled 2_6Tar
SIDFRIGET GSNSH FHUDNS UMHESSL ULBETeTS

i SIFSWUMULD 2 - SDM6d, SHNeY
2 SHSSWMULD 3 -  SH6WTE6w0TMLLLD
3 SISWMUD 4 - uemerfl, uGULHD &LDED
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Section 3
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The responses in Operant Conditioning are

i naturally emitted

2 elicited

3. unnatural

4, either naturally emitted or elicited

OFWEVLID ShBHHBEmEOWINGHE0I60 HIEORIFGEOSHEIT
1. SuweoLins euerfludLLiLnL eme

2. eumeNSSULILL6m6Y
3. Suwedupmemel
4, @uweouns ewuerfluLrLemey HeL6VS)
6U(HEHIGHSLILIL L 606
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2. %2

3.% 3
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This step of memory process can be measured by this formula

mnitial trials - relearning trails
= X 100

imtial trials
BemesTEY  E\FILISODEHDUTET &S LIQBsne0smIL,
: i B s - g 100
: : 5 s
6TENID HSSTHSE0T ELDEVLD DiaTefl 60D,

o I
h o fad

fid
e &
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Chronological age and mental age of a student are 12 years and
1Syears respectively. As per LQ. level classification he belongs
to this category

1.
.

-

fad

4.

Very superiors
Superiors
Gifted

Given data 1s insufficient

€1 LDITevUTEUTl6T &ML 6UWIG| 12 GUIBLIRISEIT, LDEUTEULIG)
15 UHLIRG6T  eT6fled  [mlevoreuorniley  mefleoT  LuQ,
LDIT6UOTEU6UTE0T  [HI6U0T6TOTIEY EUEDSLILITH

1.

2,

Options :

1.v'1
2.% 2
3.% 3
4.% 4

B&BmetTLNSESH6UT
S
GLoems

E\HTBSSULLL 6Nl6uNTRIGEST GLITSHILDITEUISTE
Beveme0
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‘Self-smart’ people possess this type of intelligence

1.

-2

r_u

4.

Visual spatial intelligence
Interpersonal mtelligence
Intra personal intelligence

Naturalistic intelligence

W@ﬁﬁb‘iﬂﬁﬂ @-IGOG(@ &SUILDTS SOHELIMT
EWDOHESLD HIETUTetom6Y

L.
2.
3
4,

Options :

1. % 1
2. %2
3.¥3
4. % 4
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The stage when the learners regardless of their best efforts,
temporarily seems to ‘stop’ making visible progress

1.
5

—

r_u

4,

Plateau stage
Initial spurt
Fluctuations stage

Spurt after plateau stage

SHOLGUT eTeueeaTe) (PWDE SRLSTEYD SHDMeOlsoT GousHiD
FHEMedlsns BermeliL g Cuneiin) Gametmid [Bemed

L
2.
3.
4.

Options :
1.¥ 1
2.% 2
3.%3
4. % 4
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S ST AT
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A boy 1s believer of God. He thinks that God never forgives the
sinner. Therefore he never did any sin. Here the motivation
involved 1s

1. Extrinsic motivation
. Intrinsic motivation

Achievement motivation

fad

4. General motivation
@m dnewenisd osLeyefler Bz HOOGMS 2 6Temg..
SieusnemLIL  LIMTenauuied Seuml 6\FLLIGUSHT  SHLEY6T
LDEUTEUTISSIDMLLIMT. ShHE6U HEUEHT ETLOWITIDGID SH6um)
OFLSH BE06Me0. BV 2 66T DeMFHSHD
4 Upn 2en&5D
4 Di& 2eMHSHD
3. DlewL6) DeMGHSLD
4.  6WE 2ESHD

Options :

1. % 1

2.¥2

3. %3
4. % 4
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“Understanding total learning situation’ happens in this learning
& Insightful learning

2. Programmed learning

Operant conditioning

tid

4. Classical conditioning

‘HODEL [BHDENE EIWDNSGHIDNS LfhHIS 6\HM6TEHsHeD
eT60TLG| BSHMHMEOled HEWLEWMILD

1. 2 ramdl eudssnhmed

2. Sl sHmev

3. 6FweLd HsHs BemeoulnSsd
4, UL ShSHHBeneoUINSHSHLD

Options :
1.1
2. % 2
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A student failed in SSC examination. But he dreamed that he
would be selected for IAS and became District Collector. This
defense mechanism is

L.

-

"

rJ,J

4.

Rationalization
Fantasy
Displacement

Denial of truth

6(H LDITeUOTEN6DT LISSMD 6euGLillen Gaiigdl 6 1meilevsmsv.
Speomed  Fmeor  [AS &G GHiey QFWLWLILL({B  LDmeulL
ST Speorg  GUTETTYY SH6UTEY  HTETOTHDTET. KRB
2 616 FHHMIL| BLEOS

1.
2.
3.
4,

SMIEUID  SDIISZ60
USDSETEY  SHTEm)|S560

S omHoid

2 euoremiDemll [BIT&Ifleg60
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Symptoms of poor mental health 1s

L.

-

&
5

4.

Adequate ability to make adjustments
Socially adjustable
Lives in his own world of imagination and fantasy

Always lives in the world of reality

LDEUTTHED (GH6MMEETT HMIGMISHET

L GUIHILDITETT BHeTey EWUMHSSUILITED OFLIZHIS
E\SHTEMEHLD HMEmLD
2. &ps 6WUMESSUILTE
3.  SMDUEWeT 2 60560 6UMDSHED LWMMID LISMDHSE0TeY
STEU0) (5560
4.  EIAUMIDGID 2 6v0TemD 2 60860 6UMLDSHED
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These methods are NOT useful to assess the personality of an
individual

a. Personality inventory
b. Minnesota Clerical Aptitude Test
c. Bell's adjustment Inventory

d. Metropolitan Readiness Test
EHEUMEIT SLEHEMIDEMIL BHEITEHS LILIEHTLILITS (LPEDMESHET
2. SHEHEMIDL LILLQUIEOSEET

b. letTeOTGFILIT 6IWRESHT HMULE GHATHEME0T

C. 616D - 60T WMKSSILTEH LI QU 16D

d. 6WLGumumedlLetT ShigsH GFTHEn6E0T

1. a. b
2 b, d
3 g b
4. a. d
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If ¥> — 1 is a factor of ax’+bx—>5 then
ax’+bx—5 6@ x* — | &noewl ereoflsd

1
2

L)

4.

Options :

1. % 1
2. % 2
3.¥3
4. % 4

a=5. b=l

=-5, b=0
a=5. b=0
a=—3>5. b=l
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(1.5x — 4y) (1.5 x+4y+3) — 4.5x+12y+4y (4y)=
2.25 x*+ 9y

2.25 ¥2 =16y’

225+ 16y

1.
2,

-
3 1

4.

Options :
1. %1
2. % 2
3.% 3
4.9 4

225 %
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A rational number is such that when you multiply it by —and

-

2 —7 .
add — to the product you get — . The number 1s
3 12

5
QM 6lB5UPM ETETITEMILET —& 6HSHS, 6ILIHSHHED

2
. 2 ; : ;i :
L6OSILETT — & FaLIQ6UTTE0 2_60THG — HeOLSHSDE
3 12
eTeullen SBSH 6T600T
-1
1 -
2
1
2. —
g
A -1
2 —
3
1
4. =
3
Options :
1.v1
2. % 2
3.%3
4. % 4

Question Number : 44 Question Id : 3922668244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

. 2 i

If —+7=2 and é—i,_z—l then 2 +1 =
\/; 7'1_ 1,_." X -.\III .‘I 4 2 3!‘

i_|_ 3 9 LDDE]]LD i_i—_l eTeofleD £_|_l—
V=N NEENE 5%
1. 5
2. 6
3 9
4, L5

Options :

1.¥ 1

2.% 2
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4. % 4
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If . .y are zeroes of ¥’ + 3x°~x-3 then o’ + f* +y° =
o. B. 7 SbBwemey ¥ + 3x'— X— 3 601 LpReLIMIGET 6Tefled
oL+ P ylh

I.
Z 8
3.

4. 11
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1
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Options :
1. %
2.2
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What is the range of the values of the constant K. if the
equation x* + kx+16 = 0 has no real roots

¥4kt 16=0 a60TD FDTUMLIQDES 6UDUI eLPEOTRIGET
Beoemsoeliefied, el K eor ndlisefleor efigar

i
2.

LS ]

4.

Options :
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—_5<K<5
—-2<K<2
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—16<K <16
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If x = sum of first 40 even natural numbers

y = sum of first 40 odd natural numbers, then y—x =

X= (Pps60 40 @ULeDL WL 6TETIIS6ErTlerT EIUDMHSHID
Y= WL 40 DM IO 6T60H6TIE 6ILDMSSLD

6160160 y—x =
1. —40
2. 40
3. =20
4. 20
Options :
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3. % 3
4. % 4
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The largest binomial co—efficient in the expansion of (1+x)"is
(1+x)" et efiflefled WBLOUAW FBHOILILS O&W

1. 924

2, 816

3, a2

4. 495
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The domain of function y(x) defined by equation 3* + 3" =3 is

3'+3"=3 gwemun® eufwns euenIUMISSLILILL
gy 1(x) e &Hemd
].. [3.0"}
2. (—=0, o)
3 (—0. 1]
4. (. 1)
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1 0 0]
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5 — @ x
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¥ 27
2. 23
% P 9
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Correct Marks : 0.5 Wrong Marks : 0

Which of the following is NOT TRUE.

1.
2.

-
2

4.

Mode is not effected by extreme values
Mean is influenced by the value of every
Observation in the data

Median is uneffected by extreme values
Range of first ‘n” whole numbers is ‘n’

SGHEILDNE aMoUIIDMHI 615H]?

L.
2,

Options :
1. % 1
2. % 2
3.%3
4.9 4
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In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining
overs to reach the target of 366 runs?

Q@ 50 auTHeT  eBmeiL  Bfidew.  Gumuisd  (WbH6L
10 @aueendd LUIng @ULmsefer  efsib 4.4 LGED
D 6Mengl. 366 QULMIGMOT &NPHd, HLeTeT peunsmerfled
IHSEMENT PULTRIGET 655D SieuFILIDNSDEI?

1. 8.05
2 8.25
3 7.5
4. 7.05

Options :

1.¥1

2.% 2

3.% 3

4. % 4
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The mean of a. b.c. dand e 1s 32. if the mean of a. d and e 1s
28 then the mean of b and ¢ is

a.b.c.d pmw ¢ SpBweupmlesr somail 32, GeyLD
a.dbpmib e SpBweupmlest Fonaril 28 erevfled
b DM ¢ o1 Fon&

1. 38
2. 36
3 34
4, 32
Options :
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The point of intersection of the less than type and of the more
than type cumulative frequency of a grouped data 1s (15.5. 7.5)
then median is

W)

1. 7.5
2. 23
3. 3
4. 15.5
Options :
1. % 1
2.% 2
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4. 4

uEDSLIGSSUILLL.  efleuwmuseflesr  &bleor DM
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Mode of the following frequency distribution 1s

Spsenamid BaHpeleueir LiTeusdler (Wa®

Cl1

0.00-0.04

0.04-0.08

0.08-0.12

0.12-0.16

0.12-0.16

f

4

9

4

-

&
J

-2 =

T4l

4.

0.11
0.03
0.06
0.09

Options :
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If the variance of 0.1.2.3.........9 1s K. then the variance of
10.11.312.13.......1918

0,1,2,3 ..... 9 o1 eflevd:s aunsss Fanail K ereufled
10,11,12,13,.... 19 et 66058 6UTHSHF FOMEI
K+10

2. 10K

3. 100K

4 K

[—

Options :
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Two dice which contain A. B. C. D. E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

waenseaiesr g A B. C. D. E wpmid F a6 SiemLiLmemD
GG, SeI® LsehLsermeom BHID Syhider 2 UT6W(DSHIeET
EWHEUBDEEN [BEHLDSE6)
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1
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Options :
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A bag contains 10 yellow. 15 blue, 20 red and 25 green balls.
A Dball 1s picked out without looking into it. Probability of
getting a ball that 1s neither yellow nor blue.

sxmemUIUded 10 ehastt, 15 Heold, 20 dleuli OMILD

25 USHF BN LIBHEIGHET 2_6Temer, FDeUMULL] (Lehmuiled
SLenUIeNmBE  ©F UBS aESHSUULLTE, UGBS
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1. —
14
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2. —
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3. —
14
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Options :
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From a pack of 52 playing deck of cards. jacks. queens and
kings of red colour are removed. From the remaining cards.
Probability of getting black king card 1s

52 F.B&H6T E\FHTeIL FLOHGLO RS, deul] Bn s,
Ometoll  LDOMLD TIERT  FLEHemeT BeHAW LUng, LBSuwemer
FLBoeflsd BEHE SEGUUBD TmERm FLeDL  6ELLSDSTE

ISHDSE6
1
1. —
26
1
2. —
46
X 3
o I —
26
1
4.
23
Options :
1. %1
2.% 2
3.%3
4. 4
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There are hundred cards which are numbered from 1 to 100.

Find the sum of probability of getting a square number and

probability of getting a cube number

1 wps6o 100 eusmyufleonest  6T600IHEDET GMIHSLD HIM)

HL6MLFHET

O _6ITEITENT,

6T6T0T 6 6TTT

OUMIEUSDSHTE BHDSHE] WDMID RH SH6E0T  6T600T6ME00T

ELMIEUSDSHTEN BHDSHEUSHATIEN CIUDNSFHENS SHTET0T5H.

1.
,/,

=
=,

4.

Options :
1. % 1
2.% 2
3.% 3
4. 4

0.10
0.12
0.13
0.14
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A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B), P(B/A). P(A~B) and P (AuUB)
respectively are

L. 0.2.0.1. 0.5 and 0.6

2. 0.1. 0.2, 0.5 and 0.6

3. 0.1.0.2, 0.6 and 0.5

4 0.2.0.5.0.1 and 0.6
A bpmib B erettuemey FmuDm HEHDEFSSET, P(A) =0.2
wdmIb P(B) = 0.5 aeofled P(A/B). P(B/A). P(A~ B) obmyb

P(AUB) Sp8weney (WsmmGIU
0.2,0.1,0.5 pmud 0.6

0.1.0.2. 0.5 pHpd 0.6
3. 0.1.02.0.6wpmb 0.5
4. 0.2.05.0.1 bopd 0.6

g

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 63 Question Id : 3922668263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Y—axis divides the line segment joining the points (-6, 15) and
(3.5) internally in the ratio
(—6. 15) .(3.5) eTeqID LJeTTerTIHemeT ReMISHSLD CHMBS

GlewrenL Y — SiFa 2 L mons Wflé& 6H8s$W0

1. 1:2
2 2:1
3 9:20
4. 3:2
Options :
1% 1

2.9¥2
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3. % 3
4. % 4

Question Number : 64 Question Id : 3922668264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (-3.5). Q(1.10),
R (3.1) and S (1. —4) and M 1s the point on side PQ. The area
ARMS is (sq. units)

PQRS er6pild (H BenetisisdHenr 2 _F&lsem P (-3.5).
Q(1.10). R(3.1) womd S (-1. 4) S4@w. Gweyb PQ
usssHer g M eremid Lemefl SHeWIDBGIETOTH 6760160
ARMS 6ot uguuerey (&.Heo@s6rflen)

1 144
2. 92
3. 46
4, 23

Options :

1. %1

2.% 2

3.%3

4. 4
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The area of an equilateral triangle whose vertices are (a.0).
(—a.0) and (0.a+/3 )is 8+/3 sq.units then the value of ‘a” is

(a. 0).(—a. 0) pOMID (0. a+/3 ) SpBWeuDOTEL FTHLBLD

FIDLGS (WSCHTENIGHET LIUILETE] 843 & HOSSHET
6T60fl6d @ 60T LDBLILY

1.
2

5
4

Options :
1. % 1
2.9 2
3.% 3
4. % 4

2

02

4
2

Question Number : 66 Question Id : 3922668266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of Quadrilateral PQRS
whose vertices are P (—6.0). Q (—4. 3). R (-6.8) and S (-8. 3)
1s (1n units)

P (—6.0). Q (4. 3). R (—6.8) oomid S (-8, 3) & 2_&58l&ens
e@netor. PORS erspilb BMD&SISS60 eLDemE0elLL
pemmugeflen ellgSWNFD (HeuGSerlen)

L
2,

[N ]

Options :
1.¥1
2. % 2
3.% 3
4. % 4

4
4.5
5

5.5
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Question Number : 67 Question Id : 3922668267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

¥

If the slope of a line joining the points A (a.3). B | -7.2

% then a’—1 is

A(a3).B l’—?.zé"] SpBW LenerfidmeneT Semeuii@LD

CHMLIQET FMLI6Y ésrstrﬂsh a’~1 e DB

¥

L. —

Laa

L
2

I

o

(ad

b

4. 1

L]

N

Options :
1. % 1
2.¥2
3.% 3
4. % 4
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The direction ratios of a line are (—6. 2. 3). The direction
cosines are

QM CamLpen Heng eHlBFMmISET (—6. 2. 3) eeulled HewF

SLHEMHS 6T
(6 —5 —8]
I [E22=8
i AT
5, (28238
ST
" ‘6 -2 -3
By S
S i B
(—6 5 8
4, R
5 55
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 69 Question Id : 3922668269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x° +5x+2y” —5x—Ty+3=018

2074500 +237 = 5x =Ty +3=0 BWeney GSNGGSLD
CrMCaHMBHERHS emLuULL GSHMeurD

=4 4

1. cos | =
5 )
e hW ¢

Fils I

it 3

2 cosI| Z
. 5)
. gl i)

3 Sin Y =
B

4 tan | =

Options :
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1.v¥1
2. % 2
3.%3
4. % 4

Question Number : 70 Question Id : 3922668270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The equation of circle with centre (2. —3) and passes through
(5. 1) 1s
(2. -3) & emwwons O\&men®, (—5. 1) eor euHGW
E\FELEUID GULLHH6UT FLDEOTLIMD
1. x> +y’—4x+6y—-44=0
2, X+ +4x—6y—-44=0
3. x4y —4x+6y-52=0
4. x+1 +4x-6y-52=0
Options :
1% 1
2.% 2

3.¢3
4. % 4

Question Number : 71 Question Id : 3922668271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The eccentricity of a rectangular hyperbola
Q(H 61F6UEUSH HBLITEUEDOTILSDET MDIWSBHTLLLD

L. A2
2. A2+41
3. 43
4, 1
Options :
1.1

2. % 2
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3. % 3
4. % 4

Question Number : 72 Question Id : 3922668272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If 4=45"then the value of (CosecA-SinA) (SecA—CosA)
A=45" aenfled (CosecA-SinA) (SecA—CosA) e DB

I,
2.

fad

IJ|I—~ o =

bd | o

Options :
1. %1

2. %2
3.¢3
4. % 4

Question Number : 73 Question Id : 3922668273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC 1s a scalene triangle with base AC. if AC = 6cm.

AB = /3 cm and Z/BAC = 60°. then the area of triangle in cm’
is

AC & SQUUSSHLNS C\GMENIL RQ(H NFLDUSHS
W&Camemid ABC s AC =6 61&.15, AB = 3 61&.18.
wpmid ZBAC = 60° arevfléd SHDp&ECEHTeTS S0
ugiueTsy @& - 6)

L. A5
2 33
3. (4.5)/3

4. 1.54/3
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Options :

Question Number : 74 Question Id : 3922668274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which among the following increases continuously in the
range 0° <6 < 90°?

0° <0 <90° eigdlsd SDHHEMLEUDNNED 618560 LDBLIL
OBMLTFSAILNG HSHMGHGSLD?

k.
2;

fad

4.

Options :

1. %1
2.% 2
3.¢3
4. % 4

Sin6. CotH
Sech. CosB
Sin6. tan6
SecB. CosecH
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If Cos(x+50%)=Sin (y—50") then Sin(x+y) — Cos (x+y) +
Cos30°

Cos (x+50°) =Sin (y—50") etenfléd Sin(x+y) — Cos (x+y) +
Cos30" e LDALIL

3
1. v
2
5 V3+2
2
- NV3+1
. 18
2
i, 3+4/2
2
Options :
1. % 1
2.¥2
3.% 3
4. % 4

Question Number : 76 Question Id : 3922668276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18+/3 cm® and BD = 6¢m then the
/DAB

FmuFgDd ABCD et LFLiLeTey 1843 &.6&.15. bpmib
BD =6 6&.15. eetfleo ~DAB

1. 307
2, 60°
3 90°
4. 120°

Options :

1. %1

2.9 2

3.%3

4.% 4
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Question Number : 77 Question Id : 3922668277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Inner part of a cupboard is in the Cuboidical shape with its

length, breadth and height in the ratio +/2 :1:1. then the angle
made by the longest stick which can be inserted into the
cupboard with its base diagonal 1s

QMH  HEUIFO\FEU6USH  6ulpelled 2 emem  Bieolbmriludleot
2 I'LigPulenr BeTD, DiGE0D LDDMID S WD ShSweumnieot
éMdsd V2:1:1 eeled DB Seowmiuder 2 6mGer
meuBSHSFall  OeLOLfL  &FF  IDDMID  BiFeoT I
ELDEMEVEILL HHIL6TT TDLIBSHID BSHT600TD

L 45°
2. 60°
3 30°
+ 5%

Options :

1. %1

2. %2

3.3

4. % 4

Question Number : 78 Question Id : 3922668278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following does not exist for some value of “x’
gCsD Qb I x &S SPSSHELeUDMIED

FNSSWDDDF
—21
1. Cosx =
34
2
2. LY e
17
3. tan x = 20
4. Secx=1.9

Options :
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 79 Question Id : 3922668279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of Sec (2100°)
Sec (2100°) eor LDBLILY
2

J

Laa

L
[

LS ]

2
et
V3

4, -2
Options :
1. % 1
2.92
3.%3
4. % 4

Question Number : 80 Question Id : 3922668280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

InaAABC.Ifa=3.b=4 and SinA = %then ZB

wWw&Gsmennd ABC 60 a=3.b=4 ppmb SinA =
ereufled /B

1. 90°
2. 60°
3. 45°
4. 30°

3
4

Options :
1.v' 1
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2. %2
3.% 3
4, % 4

Question Number : 81 Question Id : 3922668281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If SecH+tanB = %Then value of Sin® and the quadrant in
which “6° lies )

SecH+tand = E ereuflen Sind bFuL| DML 6° BHES
asrrer'uu@ﬁsmuj FMMHSS]

1. Sie = —i.QEQ3

13
. 5
2. S = 13’ 8e0,
2
. 5
3 SIne = +—., €,
13
. 5
4. Smb = +—,60€0,
13 -
Options :
1. % ]
2.92
3.% 3
4. % 4
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For two non—zero. non collinear vectors a and b if
lath |= | a—b | then angle between a and b is
a.b eeTUemeY BB LLRALLDEVEONS, RCT

G&HMLEMDWING 6I6UGLMTHET 61601160 latb |= |a-b|
eelled a. b & QewLuuLL G&MewrD

8 60°
2. 90°
3. 1207
4. L 56

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 83 Question Id : 3922668283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors

a= 21—3j+3K and b =1+ 2j —5k are adjacent sides 15
(in square units)

a=21-3j+3K omib b=1+2]-5k Spdw
EIEUSLMTHEMET HBSHIETET LISSHMISOTTS 61ST6T0TL
SemerISHISIe0 LguLeTe] FHT SHeo@Gserle))

—

1 + 782
X /390
3 /299
4. x-'ﬁ

Options :

1. %1

2.% 2

3.3

4.% 4
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Question Number : 84 Question Id : 3922668284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If OA=1+3j+2k, AB=31-2j+k, then OB =
OA=i+3j+2k, AB=3i-2j+k erevfléb OB =

1 —2i+51-k
9. Jisik
3. 4i+j+3k
4, —4i-j-3k

Options :

1. % 1

2.% 2

3.¥3

4. % 4

Question Number : 85 Question Id : 3922668285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1
j - dx =
X" +9
] T I.
1. —TanZ 2 +¢
9 9
1 4
2. T G
3
1 if
3 —Tan 1|l‘+c
.3 L] .3‘__!
1 b
4, —Tan x+c¢
9
Options :
1. % 1
2. %
3.3
4. % 4
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Correct Marks : 0.5 Wrong Marks : 0

. Sina: .
The value of lim 1}_” T b#0,a=bis
=0 Sin bx
lim s (b#0.a=b)er L
x>0 Sin bx ‘ H
1. ab
2 £
b
. b
i3 1 —
a
& log, a
log, b
Options :
1. %1
2.¥2
3.% 3
4.% 4

Question Number : 87 Question Id : 3922668287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If f(x) = e* + Sinx Cosx. then £ (x)
f(X) =e* + Sinx Cosx. éreufled £'(x)

1 e* +Cos2x
2. e* +Sin2x
3. e* +2Sinx
4. e* +2Cos x

Options :

1.v 1

2. % 2

3.% 3

4. % 4

Question Number : 88 Question Id : 3922668288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Ixanxdr:
0

1. 0

2z 1

L
BN

4. T

Options :
1. % 1
2.92
3.%3
4. % 4
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Identify the TRUE statement/s

(1)
(i1)
(iii)
1.

LTS T

e

2kg:500g = 10km:2.5km
20 seconds : 3 hours = 1 meter : 900¢cm

I1:10 paise = Icm : Imm
only (1)

only (i) and (i1)

only (i) and (i11)

only (i) and (i11)

FWmes &DM/FaDMIGHENET HEDLIIMETD SHT600T.

(1)
(11)
(iii)

1.
g

fsd

4.

Options :
1. %1
2.% 2
3.%3
4. 4

28.8:5008 =108.85 : 2.5 8.6

20 efleormigser : 3 evoflgeT = 1 LBLULA : 900 6115
31:10 emusnaseT = 1 OF.15 : 1.5

(1) LG

(1). (11) LDLBLD

(11). (111) LDL(BLD

(1). (111) IDL@BLD

GET IT ON
Google Play

Question Number : 90 Question Id : 3922668290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The difference between compound interest (compounded
annually)and simple interests on a certain amount of money
for two years at 4% per annum 1s ¥10. Then the amount of
MONEY 1S

em SoulllL  egtensuier & 0 euBLSIDG
4% 6ULIQUILEN 2 OUBLMIGEDSS EUBLESDS BB WPDD
ALY SHETGESBL (WM SalL(Beully WOmID Sevfleulio
SenL Guwmenr sllgPwnad I10 arevlled SHFHOFHMENS

1. < 6250
2. < 6300
3. % 6500
+ < 7500

Options :

1.v1

2. %2

3.% 3

4. % 4

Question Number : 91 Question Id : 3922668291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The expenses on o1l, vegetables and rice of a family are in the ratio
12:13:15 respectively. The prices of these are increased by20%.
30%.50% respectively. The total expenses increased by

QM GOBLUSHED ET6TTelemI, SMUSMIGET WLOMID il
SHAWEUDMIDSHTETT  6\F6v6]  (WedmBW  12:13:115  eT60TMD
cldssde0 2 emeterr.  @eupmlenr  eflemed WedMEIWL

20%, 30%, 50% eren1 DHPeMGIH eevfled eeotnilenr LBHID
EIDNBFIDNS: HPEMG5H 6\Fevefler FH6lsID

1. 32.5%

2. 33.5%

3. 34.5%

4. 35.5%
Options :

1. %1
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2. %2
3.3
4, % 4

Question Number : 92 Question Id : 3922668292 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In a hostel of 180 boys the food material is sufficient for 37

days. After 12 days of hostel life. 30 boys left the hostel. The
number of days for which the remaining food material will last is
180 Gum 2_emem &R Lbmetoreum ellBSWled 37 HBILSEHSHES
gMEUMGLD 2_6TTeyLIEINHLSET 2_emerTent. 12 HAL&ET 6lBS
AMDGHM&ESHS U@ 30 rewreunsem ellGHemu el B
e\FemieAlL L6, BSHUPETOT 2_6mTeyLIEIIMBLEET, LBSHLpeTeT
LDTETTEUMTHERSG FACLNTEHEHF HILSHETIEN 6T6rreuilHend

1. 30
2 32
3. 34
4. 36

Options :

1.v 1

2. % 2

3.%3

4. % 4
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If the cost price of 12 apples is equal to selling price of 18
apples. then the loss percentage 1s

12 Spudlensmen sunmudl eflemeowmentdl 18 Spuflenser
eflDmeflemend@ FIDID 6reulled HEQL FH6SHD
I, 30%
2. 50%
3. 33ly
3
4. 30%%
=2
Options :
1%
2.% 2
3.¢3
4. % 4

Question Number : 94 Question Id : 3922668294 Question Type : MCQ Option Shuffling : No

Displa

y Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of ¥1170 is divided among three persons A.B and

E

such that 3 times A’s share. 2 times B’s share. 4 times C’s

share are equal. The shares of A.B and C respectively are

170 etepid OFMDSWTENEH A. B womid C  6Tenibd
CLDOUHHS, A LIMS6TT 3 IDLMkS, B UMudstr 2 DL,

c

UMfudeor 4 DLMkG &FOLME SEsGbuy Ufssuuc s

eeolico A.B.C @ SHOLES LMIGHET (LDsmdDEIL

1. 270. X180, 360
2. 390, <260, <520
3 520, <390, <260
4. 3360. I540. %270

Options :

1. %1

2. % 2

3.% 3

4.¥ 4
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Question Number : 95 Question Id : 3922668295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of numbers from 1 to 70 (including 1 and 70).
which have 1 or 9 in the unit’s digit

1 bomip 70 SpSwendming SewLGw (1 womid 70
CoNsE) 2_6TT6T 6TetnHeartled (LFEOMD QLGP0 1 HHeLEL G
9 & B60HGIDNG C\GTEIL Tl 66l FH6lBLD

k. 20

2. 25
3. 30
4. 35
Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 96 Question Id : 3922668296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which is divisible by 9.18. 24
and 32 is

9,18,24 DM 32 B erermIseTIe0 LBHudeorn
QIGUGL WISFFNHIL BTG B605HS 616001

I, 1080
2. 1152
3. 1306
4. 1536

Options :

1. %1

2.9¥2

3.% 3

4, % 4
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Question Number : 97 Question Id : 3922668297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following is/are terminating decimal(s)
o0 1B i 143 s 8
(1)E (11}m {111)E
1 (1) only
1. (1) and (i1) only
3 (1) and (1ii1) only
4. (1), (11) and (i11)
SLDEHEMILEUDNED (LDIREYN| SFLDLD/SHEFDIRIGET

.16 . 143 s
(1) o (11) G (111) 15
i (1) LDLBLD

2. (1) LbOmLD (i) LBLD
3. (1) LDOMID (111) OLBLD
4. (i). (ii) womb (iii)

Options :

1. % 1

2.% 2

3.%3
4.9 4

Question Number : 98 Question Id : 3922668298 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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4 1’ ™y
o |=

and log, —1then HCF (x.y) =

If logg Iog,, (log) | -

-
3

i X _] . - { D_-" "__ -
lﬂgs[log4“0g5)_]_§ LDDM)LD 10g3|.l10=‘2? J— 1 et6nfled

B.eumasm (x.v) =
1. 1

2.
3

4.

d

o h

Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 99 Question Id : 3922668299 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the pair of integers (a,b) such that a+b=-3 and

at+bt+8 =0, then a =

a~b=-3 DMW a+b+8=0. eEMEUNM WDIDSHSH6rTI60T
@emevor (a,b) etevfléd a =

i; —4
2. 1
3 =]
4. 12

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 100 Question Id : 3922668300 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Which of the following statement is TRUE?

S&EHEWTLeUDNIEL aoul Fapm 6gl?

i 4+l:l+4
4 4

2 |Ir4+ln"+4=4+|rl+4]
-y Th

4+-(4+4) =4+ +4

fad

\
LY

4. |f.4—%]+4=(4+4}—|fi+4\-‘

Options :
1. % 1
2. %2
3.%3
4.9 4

Question Number : 101 Question Id : 3922668301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3/13.824 +3/15.625 -317.576 =

i 2.3
2. 24
3. 2.5
4. 2.7

Options :

1.v1

2. % 2

3.% 3

4. % 4

Question Number : 102 Question Id : 3922668302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Let abe be any three digit number, then abc+bca+cab 1s not
always divisible by

abe er60TUG TCHENID RIH CLPETTMIEDSHS 6T600T 61601160
abe+bca+cab  eTeUTUE SLDSHSHETILEUDINED 6THETTED
TURLMDGID 6UGSSHSHULILTE].

L. atb+c

2. 3
3. 37
4 17

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 103 Question Id : 3922668303 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If A= {.*r x=n"+LneN.n< 4} ,B={x: x 15 an integer and
x’—9 =0} then which of the following is TRUE
A= {:r x=1n"+1, neN.n £4} B={x x eetTUSH @B WW

OMID X —9 = 0} aevlied SSHHEWLEUDMI6d FiTlwITesTE)
1. n(A-B)=35

n(AnB)=1
%, n(AuB)=3
4. n(B-—A)=2

12

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 104 Question Id : 3922668304 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the WRONG statement

1. All thombuses are parallelograms
2. All squares are thombuses and rectangles
3. All rectangles are squares

s

All parallelograms are trapeziums
SUDTS FODEDD HEDLIITETD SHTE0018.
1. DHEWETTHFH FTUFHTTRSEHLD L6WETIHIMISETTEGLD
2, W HFH FHITTHRIGHEBHLD FTUFHITTRIGET DDMILD
C\FEUCUGHRIGET DHGSLD
3. WM HFH 6\FOEUCUSRISEHD FHITTRIFHET ShHGSLD
4. SDETFHF BEDETNGHITRGHEBD Fil6USHMIGETTGSLD
Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 105 Question Id : 3922668305 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In AABC. DE/BC. If AD=2.3cm. DB=6.9cm and EC=4.5¢cm
then AE 1s

AABC 6b DE/BC. AD=2.3 §\&.18, DB=6.9 1&.18 LobpLd
EC=45 6.5 erevfled AE 601 LDSLIL

1. 3.0 cm
2. 13.5¢cm
3 1.5cm
4. 1.8 cm

Options :

1. % 1

2. % )

3.¢3

4. % 4
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Question Number : 106 Question Id : 3922668306 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘AB’ 1s a chord of length 10cm which i1s drawn in the circle of

center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord is

i 10 cm

2, 16 cm

3. 13 cm

4. 12 cm

‘O’ 6DDILLD WOMID DI 26 OF.5 2 DLW UL LSH6D

10 0 &8 Merd 2 emLil ‘AB’ eeoin  [BNEWT 266G,
eT60fléd  EMDWSHEOHHBSH HMEWiDG 2 66T CFRSGSH

GITILD
1. 10 60&.18
2 16 6)&.18
3. 13 6\&.15
4 12 615.15

Options :

1. % 1

2. %2

3.% 3

4.9 4

Question Number : 107 Question Id : 3922668307 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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A circle touches all four sides of quadrilateral KLMN.
If KL = 12cm. KN = 14cm. MN = 18cm then LM is

1. 8 cm

2. 20 cm
3 16 cm
4. 44 cm

KLMN er60rm BID&ISSE0 BM60TS LISSMISGENATILILD
OFTGLMM @ 6uLLd 2 emengl. KL =12 aF.15,
KN =14 gig.18, MN = 18 e\&.15. etevflso LM bl

1. AN
2 20 e\&.15
3. 16 aF.5
4 44 o715

Options :

1. %1

2. % 2

3.9 3

4, % 4

Question Number : 108 Question Id : 3922668308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The supplementary angle of an angle ZA 1s three times to
angle ZA. The sum of complementary and supplementary
angles of ZA is

@@ Gametrd LA e WensHBIULY Gsmemri,

B&CHMEMID L A&HG e6uTM) LDLMIG 6Tevfled LA eor
BrulGsmemrd LOMID Wlen&BIuL GCamemrmigeriesr

EIWDMTHFLD
L 45
2. 180°
3 1357
4, 90°

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 109 Question Id : 3922668309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an equilateral triangle is

Q(FH FOUSS WWHCHTENISDHEN 6leualGHMetnd MM
gGHMD RIH 2_6MaTHTCHTEWIMISEHSHHTEN 6HHHLD

1. 1:2
2. 2:1
3. 1:3
4. 3:1
Options :
1. % 1
2.2
3.%3

4.% 4
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Question Number : 110 Question Id : 3922668310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perimeter of a triangle 1s 12 cm. If all the three sides have
lengths (in cm) in integers, then how many such triangles are
possible?

&MH (W&CaMeISHen &HDmeTey 12615.15, (WD&EHTETISH 60T
SHDETHG LssMmiGeTen Hemmaenh (61F.5-60) WDWesHe
6601160, 6THHEMETT 6UEMSILITEDT 616u6UG6UM)] (LDSBSHTETOTRISETT
SMSSIWILDTGLD?

1.
2. 2
3.

4. 4

LN

L)

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 111 Question Id : 3922668311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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CART 1s a rectangle. Intersecting point of diagonals ‘CR” and
‘AT’ is “0°. f CO = x* +3x+7and OR = x" 4 4x+5then value
of x and length of any one of its diagonal respectively are

1. 4 and 35
2 land 11
3. 2 and 34
4, 3 and 25

CART er60tUgl €(@H 6)56U6UHID.  CLPENEVEIIL LITIGHETT
CR ibomib AT SpBweney Seu B Lemerfl “O.
CO= x" +3x+7 pmb OR=x"+4x+5erevofled x 607 1DSLIY
OMID gCHMID (FH eenevefiLL BT WenmEW
1; 4 oM 35

2. 1 wpmb 11

3. 2 oMW 34

4 3 DML 25

Options :

1% 1

2.% 2

3.¢3
4. % 4

Question Number : 112 Question Id : 3922668312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The ratio of the slant height and height of cone is 2:+/3 then
the angle between radius and slant height is

Q(H FaLI60T Fmey 2_WJLD WOmID 2 Wb
SpBweunmler 9B 2: /3 eTeolléd SpTD WOMID &FMiiey
2_WIThiSEHSS SenLGWwmes G&HM6uorD

1. 157
2. 45°
3. 307
4. 60°

Options :

1. %1

2.% 2

3. % 3

4. 4

Question Number : 113 Question Id : 3922668313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radius 3cm is carved from a
cuboidal block of wood with dimensions 10cm x 6cm x 2cm.
Then the percentage of wood wastage in the process is

10 61&.15x6 018.15x2 &5 SleTayHemeT 2 DLW R(H
ElFeueus 6ulgey LUSELDLUIsOImBE 7 6§50 2 wpd

LOMID 3 6F.L5 SHQSHILD 6\ GITETOTL. FalDL]
OFHIGHLLILL S éT60fl60 SIFE\FUIE0I6D efleuoTent
LDISSIETQET FHEHBHLD
L. 45%
2. 421,
2
3 33%
4, 33%%
Options :

1.¥ 1
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2. %2
3.% 3
4, % 4

Question Number : 114 Question Id : 3922668314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and
BD=13cm. area of ABCD is 65cm” then the length of AC in
centimeters.
SIBSEIETET LIGSHMIGEDET FIDIDNG CIBMEIITL Q(F
Bewemiagd ABCD eor UTLL6TEY 65 &.6)&.L5
womnib BD= 13 6&.15 eeofled AC 61 [BeTd 61518 - 6
1. 5
2. 10
3. 6
4. 9

Options :

1% 1

2.¥2

3.% 3

4.% 4

Question Number : 115 Question Id : 3922668315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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A right triangle with sides Scm. 12cm and 13cm 1s revolved
about the side 12cm. Then the ratio of curved surface area
and total surface area of the solid so obtained

5 010, 12 615 oMb 13 aF.5 &8 SieTeyenLwl
LSSHMISENOT E\SHTEL R(H 6\FRIGCHTEmT L&HESHMETITD
12 01315 2 6DLIW USSHNS GHLDEAUISTEL eTDLIGLD
SLUMmeTlerr cuemeTSeml LITULIATE] LDMMILD
EIWDMSSHOT LTLLIeTeysHerlenr 68l&HHLI0D

I 1255
78 13:12
13:18
4. 25:12

Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 116 Question Id : 3922668316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry

GG QFHMEHSHULLGETOT SmBe 6DSFIS6rT60r
G(WEHGeMled SemLIDLL DM OFRIGSHSE FDFETENLD
CaMB&HET SU6UTemLU|D SLIDMISTET G(D

1. Lo 2% L
2. X.H O
3 X Y. Z
4. AB.C

Options :

1. %1

2.2

3.% 3

4. % 4
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Question Number : 117 Question Id : 3922668317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216cm’ then the length of its diagonal
in centimeters

(H HOFFHTSI6N SHevrdiaTey 216 &.6)F.15 erevfled
Sigeo eenevsilLL HeTd e\Feomiobi L ifled

1 83
2. 82
3. 64/ 3
4. 62

Options :

1. %1

2.% 2

3.¥ 3

4. % 4

Question Number : 118 Question Id : 3922668318 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively then
the perimeter of quadrilateral which formed by joining
mid—points of the sides of thombus in cm

IH FMUFHITSHEN EDMEVENLLTISETPEMDEW 7 61F.15
3 655 eeoflled FMUFHIISHT USSHTIG6ET6T MWL
LeTeflaenmed 2 (heun@D BHND&ISHen &Dmetey @\F.10)

1. 4.5
2; 10
3 5
4.9

Options :

1. %1

2.2

3. % 3

4.% 4
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Question Number : 119 Question Id : 3922668319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio between the perimeter and the breadth of a rectangle
is 5:1. If the area of the rectangle is 216cm”. then its length in
centimeters

Q(H 6\FEUCUSFHDEN FDMETEY LMMILD SHHE0LD
SpAweuDmlenr 6flBHD 5:1, G SHFET LTLILIETEY
216 g.65.150 aevfleb Hemd QFerioLBLLifleb

1. 16
2. I8
3 24
4, 26

Options :

1. %1

2.9 2

3. % 3

4. % 4

Question Number : 120 Question Id : 3922668320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length of the minute hand of a clock is 14cm then what is
distance covered by the minute hand in 10 minutes in
centimeters?

m olemrsderr B wetefleor Hemb 14 €1&.L5.
10 BOlLmusefled DHBS WETOTTENTH LILEWISESD SMILD

e\&F.10. - 6D
2

1. 14=
3

2 15t
3

3 1021
3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options :
1.v' 1
2. % 2
3.% 3
4. % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 5

392266260
5

Online
Mandatory
40

40

20

0

1
392266260
Yes

GET IT ON
Google Play

Question Number : 121 Question Id : 3922668321 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Match the definitions of the Mathematicians

A Francis Bacon 1. Science of quantity

B. Aristotle ii. Mathematics is the
indispensible instrument of
all physical researches

£ Kant 111. Indirect Measurement
iv.  Gateway and Key of all
sClences

SeuoflgHefleonaTTEHeren EUEDIUIEDDEHEMET CILMRSHIS.
A, Ygrnettdlsiv Guaett 1. DlemeyseriletT SHnjlefluied
B.  SiflshoLmgeo ii. DHewetISE SwDLILieo

Selles (PTG BTGl
C.  Smew iii. LDEDMOLPH DHeeli(D

1V. DH06UIEE| BLBOFETHHELD
BETLDEMITEY, pLPEUD SHEID

A-wv. B-um. C-1
A-11, B-1wv, C-1i
A-iv, B-1, C-ii
4. A-11, B-1wv, C-1

-3 —

()

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 122 Question Id : 3922668322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history” was said by

L.
2.
3.
4.
®

Lim
Chapman
Fried
J'W.L. Glaisher
G UNLGmS g6 eureombmledipbg ConLbss

wpwettmmeo Geuml 61h& UMLAPLD SHemflssenslt GLmed
SDLIL] SHeDLWINF|”  6T60TSFamluieurt

L 60ILD
7. FITLILDE0T
3. ewr®
4. JW.L. Semen&m
Options :
1. % 1
2. %2
3.% 3
4.9 4
Question Number : 123 Question Id : 3922668323 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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The person who along with Bertrand Russell. challenged that
“any one could show where logic ends. there mathematics
begins™ was

i
”

-
J.

4.

Descartes
White head
Felix Klein
David Hilbert

WML JTeTL J6N06IV6L 2L 60T @mswrg;@ grraa&.m
ARG (PREUHLEDS LOMID SHewlsD 6k
OSMLRGEDS 61607 WMEIENID STevorisSs  (LPLULDIT
eTeor Feumen 6Sl(BEHS6UIT

1.
2
3.
4.

GIL&ITITL6M)

EmEUL QDL
e\Ledl&Ee S6\eTullesT
GLsfl. anleoumL

Options :

1. %1
2.¥2
3.% 3
4. % 4

Question Number : 124 Question Id : 3922668324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the correct statements

E

IL

| o

e

Inductive reasoning 1s not a valid method when
concerned to proof

Though deductive reasoning appears to be simple. there
1s every possibility of going incorrect in many
situations

I 1s correct: II 1s incorrect

I 1s incorrect: II 1s correct

Both I and II are correct

Both I and II are incorrect

grilwimenr FapmISenaT Seuor(BLIL.

L

IL

i
z
3

4.

Options :
1. %1
2.% 2
3.¢¥3
4. % 4

Question Number : 125 Question Id : 3922668325 Question Type : MCQ Option Shuffling : No

eflFeurH SMIeTT ShUie)y (LPemM
BebLS56015& M6 FHWTET (PedD BH6060
6flf eflenss SHMIevor bWy (Lpewm eTerilHns
STEUUTLILILLMEQILD, LI60 &LpBemevserflen
SEUDTGSLD GUMLILILISET 2 _6TerTet.

I &ril, II &6um)

I g6um), 11 &l

I HmMD 1T Grevor(BLD &l

IHmId I BTetrrBLD FHeum)

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Because of whose writings. the work of Pythagoras and his
disciples became known to the world

e

Epicaramos
Hippopotas
Phyllodus
Architan

BeUHEmLL  61(DSG] LIeWLLILIS6TTEY, LGT&I6n  LDMHMmILD
Sieuflett FLiimearflett LsafilyseT 2 e0dhe 6\FMHsE)

L 61L& MITLDE
2. enlu@uUTeIITLTEN
3. LNGe0ML6M
4.  SpisBLer
Options :
1. % 1
2. % 2
3.3
4. % 4
Question Number : 126 Question Id : 3922668326 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In which year the Indian Government issued the postal stamp

for

the first time in honor of Srinivasa Ramanujan

Feofleurs  @UMDNENIFHSS DALMENS  CFQSHID
6fl&HDME (LPFHEIT (PFHedleL BHEHW HTF FHLIMELSHEWED
eleuerfluiL  Sheuor(B

L. 1962
2. 1987
3. 1992
4. 1997

Options :

1.v 1

2. % 2

3.% 3
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4. % 4
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Mathematician who was the first to suggest that letters can be
used for unknown quantities

L.
2,
3

4

Arvabhatta
Pythagoras
Gauss

Archimedes
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One of the mathematicians who introduced the School of
Intuitionism

I,
2,
3.

4

A N. White head
Bertrand Russell
Henri Poincare
David Hilbert
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Identify the correct statements

L

IL

[ B

LS ]

4.

Understanding : The pupil established relationship
between two quantities given in a problem

Application : The pupil corrected an error in a given
concept

I is correct: II 1s mcorrect
I is incorrect: IT 1s correct
Both I and II are correct

Both I and II are incorrect

gilwmesr sammISHeneT SHetorLm.

L

II.

I

LS ]

4.

Options :
1. %1
2. %2
3.% 3
4.9 4

Ufihb&IS6\SM6TEHSH6e0 Dot LTFFemeuuilsn
O\EHMBSHSHULL(BeTem @ah LIMLDIevhISHEHHES
BeoLGW O\FMLTeWU eIDLIBSSEUN6DT.

LwetTUn(® : OSMB&SULLL &HHSHEO L 6iTer
LNewpsenar Fie1Fuwieureor.

I &, II s6um)

I geumy, II &l

L II &pevor(BD &l

L II @revor(BLD S6um)

Question Number : 130 Question Id : 3922668330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A scientist who wonders “how mathematics has got so many
uses in the world even though it is man made™ 1s

L.
2.
3.

4.

Newman
Taylor
Einstein

Hogben
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The statement “the student will be able to predict the shape of
truncated cone™ 1s the specification of this objective

1.
2.
3,

4.

Skill
Knowledge
Understanding

Application
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Which of the following is not the principle of curriculum
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construction?
1. Principle of Difficulty
2 Principle of Flexibility
g Principle of Utilitarian value
4. Principle of Activity
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If the student learns the concept ‘Integers’ in the beginning
and again after some gap in the class 7. the curriculum
organized in the following method

L.
2.
2

4.

Topical Method
Concentric Method
Logical Method
Spiral Method
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A good mathematics textbook should contain examples that:

1.
2

LS |

4.

are extremely complex to challenge students
are in accordance with the situation and with clarity
are only focus on the gifted students

are unrelated to the text to increase difficulties.
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A
des
A
B.
4

D.
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‘Preface’ or ‘foreword’ at the beginning of a textbook

cribes the following of the textbook.
Specify the Scope
Specify the advantages
Specify the objectives

Specifies the values
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What 1s the role of “Mistakes and errors’ in Heuristic method

use
L.
2
3.

4

d in Mathematics teaching?
Mistakes and errors are not tolerated
Mistakes and errors are seen as failures
Mistakes and errors are valuable learning opportunities

There 1s no room for mistakes and errors.
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‘Education is Life’ stated by
1. Lord
2. Kil Partrick

John Dewey

fad

4, Stevenson
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. SeoumL s
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When using problem solving in mathematics, which one is the
key factor of success?

1.
2.

i
i 8

4.

The speed at which a student solves the problem
The ability to apply learned concepts to new situations

The number of problems that a student can solve in a
set time

Student’s ability to solve problems without any errors.
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Options :

1% 1
2.¢ 2
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A suitable topic for teaching in project method

1. Area of a circle
2. Pie chart
3. Discount
4. Surface area of a Sphere
O\FWeudLL (pemmuiled SDLINGS eTZeumsTT LML
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This 1s not included in a unit plan.

1; Content analysis

2. Teaching strategies

3. Teaching learning material

4. Evaluation
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“A teaching outline of the important points of a lesson
arranged 1n the order in which they are to be presented. may
include objectives. points to be made. questions to ask
references to materials, assessments etc.” This definition for a
lesson plan is given by

1. Herbart

2. Good, C.V.

3. Bloom. B.S.

4. Morison
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Which of the following 1s not related to Herbartian steps?

SDHSHETTLEUDINED EQDITUMIL. LIQBemeosdd& 6SITLITL

1. Preparation
2. Presentation
3. Response
4, Application
BI6VEUNSHF|
1. SIS HLD
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3.  6\FWeOMDHMISHED
4, Liweotun(®
Options :
1. % ]
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“A unit 1s a large block of related subject matter which can be
over viewed by a learner™ stated by

1. Herbart
2. Preston
5 Galton

4, Thurston
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The influential experience in ‘Learning through observation’
category of Edgar Dale cone of experience.

1.
2

Tl

4.

Motion pictures
Demonstrations
Field Trips
Exhibits
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According to Edgar Dale’s cone of experience, which of the
following 1s correct?

E More Passive experience — High retention

2, More active experience — High retention

3. More Visual learning experience — High retention

4. More auditory learning experience — High retention
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Which of the following has to be considered while selecting
teaching learning material?

A
B.
.
D.

Price only

Availabilities only
Compatibility Objectives
Popularity
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The aid used for vocabulary. symbols in the lesson. how to
pronounce them or for revision is

|
-~
.
&
3.

4.

Peg Board
Bulletin Board
Geo Board
Black Board
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Which of the following are the enrichment activities for gifted

students?
i, Providing historical developments of various topics
il Appreciation the good work done by them.

iii.  Limuting the divergent thinking perspective.
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Identify the correct statements

i

IL

I-d

Tad

4

Games and laboratory activities are suggested as
supplementary material for slow learners

Test items from mathematical Olympiads and national
talent tests should be provided as supplementary
material for slow learners.

Both I and II are correct

I is correct; IT 1s incorrect
Both I and II are incorrect
I is incorrect; IT 1s correct
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ol bd

4

Options :
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To teach slow learners. the teacher must possess this trait
1. Efficient
2. Experienced

(8]

Subject Expert

4. Resourceful. Efficient, Subject Expert
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Which of the following 1s a strategy to improve accuracy
1. Practicing problems with a time limit

2. Skipping difficult problems and returning to them later

3. Encouraging verification of results.

4, Focusing on speed rather than method
SDESHETLEUDNIEL FHleLeOlGens GLLDLIBS S
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Oral work 1s considered as important in teaching mathematics.

Why?

1.
5

=
by 12

4.

Useful in memorizing Principles

Encourages active Participation of students and
immediate feed back

An easy method for teachers to use.

Useful for improving hand writing skills
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Main aim of using ‘Drill work’ in teaching mathematics
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Develops creativity

Useful for students to work together in implementation
of Complex projects.

Replacing the need for conceptual understanding

To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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A book having ‘Kantikaabharanam® Problems which were
examples of mathematics order

1. Leelavathi Ganitam
2. Aryabhatteeyam
3 Ganita Saara Sangraham

4. Pancha — Siddantika
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The arrangement of triangular numbers belongs to this form of

mathematics aesthetic structure
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Pattern

Symmetry

Sequence

Order
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Who states the need to Start a Mathematics club in the School
il NPE - 1986
2. PoA - 1992

3. Kothari Commission

4. Mudaliar Commission
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Match the following

A Validity 1. Easy to administer
B. Reliability ii. Measures what it 1s
intended measure
e, Objectivity iii.  Consistency of results
D.  Practicality iv.  Free from bias and
Provide impartial results
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A teacher 1s interested in assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

1. Fill in the blank Questions

2. Essay Questions
3 True / False Questions
4, Short answer Questions
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Which is the best use of diagnostic evaluation?
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Before going to teach a new lesson

When defects are identified during teaching learning
process

After completion of the teaching

Teaching is going on
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In the process of preparing an evaluation tool, which is the

first step
1. Predetermine the Scoring Procedure
2. Identify the objectives of the evaluation

Selecting different forms of questions

fod

4. Standardization of the tool with experts
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